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3DUW $� *UDPPDU
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

��7KH GLUHFWRU KDVWHQHG WR DVVXUH WKH FRPPLWWHH PHPEHUV WKDW WKH SUHVV « �
�� ZRXOG QRW LQIRUP �� ZRXOG QRW EH LQIRUPHG
�� ZDV QRW LQIRUPLQJ �� ZDV QRW EH LQIRUPHG

��7KH QDWXUH RI YLUXVHV PDGH WKHP LPSRVVLEOH WR GHWHFW IRU PDQ\ \HDUV HYHQ DIWHU EDFWHULD « DQG
VWXGLHG�
�� KDG EHHQ GLVFRYHUHG �� KDG GLVFRYHUHG
�� KDYH GLVFRYHUHG �� KDV EHHQ GLVFRYHUHG

��:KHQ , ZDV OLYLQJ LQ &KLQD� , IRXQG LW YHU\ GLIILFXOW WR JHW XVHG WR « ZLWK FKRSVWLFNV OLNH &KLQHVH
SHRSOH�
�� HDW �� HDWLQJ
�� EHLQJ HDWHQ �� EH HDWHQ

��0\ PRWKHU NLQGO\ DVNHG RQH RI P\ IULHQGV WR VHH « IODYRU RI LFH FUHDP KH SUHIHUUHG�
�� ZKHWKHU �� ZKRVH
�� ZKLFK �� KRZ

��7KH \RXQJ ZRPDQ « D SHUVRQDO DODUP� EXW LW ZDV RXW RI UHDFK LQ KHU KDQGEDJ ZKHQ VKH ZDV
DWWDFNHG�
�� ZDV FDUU\LQJ �� ZRXOG FDUU\
�� KDV FDUULHG �� KDG FDUULHG

��,Q WKH PRRG WR EH E\ KHUVHOI� 0HOED ORRNHG IRUZDUG ��� WKH HYHQLQJ RQ VXFK VROLWDU\ DFWLYLWLHV DV
UHDGLQJ DQG WDNLQJ D ORQJ EXEEOH EDWK�
�� WR VSHQG �� WR VSHQGLQJ
�� VSHQGLQJ �� LQ VSHQGLQJ

��7KH PDQ FODLPLQJ WR KDYH ORVW KLV ZDOOHW VHHPHG VR HDUQHVW WKDW , EHOLHYHG KLP DQG JDYH KLP VRPH
PRQH\� EXW ZKHQ , VDZ KLP GRLQJ WKH VDPH WKLQJ D ZHHN ODWHU� , NQHZ KH ��� PH�
�� GHFHLYHG �� LV GHFHLYLQJ
�� KDV GHFHLYHG �� KDG GHFHLYHG

��6RPHRQH LQ WKH ODERUDWRU\ ZLOO DQDO\]H WKH EORRG VDPSOH ��� �
�� IRU VHHLQJ LI WKH SDWLHQW KDV DQ LOOQHVV
�� WR VHH LI WKH SDWLHQW KDV DQ LOOQHVV
�� WR VHH LI SDWLHQW KDV DQ LOOQHVV
�� IRU VHHLQJ ZKHWKHU SDWLHQW KDV DQ LOOQHVV

��$IWHU ORVLQJ HYHU\ JDPH ODVW VHDVRQ� WKH VRFFHU SOD\HUV EHJDQ WUDLQLQJ WKLV \HDU ZLWK D SRRU
DWWLWXGH� ,I WKH\ ��� WKHLU RXWORRN� WKH\ ZLOO KDYH DQRWKHU ORVLQJ VHDVRQ�
�� GR QRW FKDQJH �� DUH QRW FKDQJHG
�� GLGQ¶W FKDQJH �� ZHUHQ¶W FKDQJHG

���,W LV HYLGHQW WKDW WKLV ROG PRYLH WKHDWHU KDV EHHQ YHU\ ZHOO WDNHQ FDUH RI DV WKH RULJLQDO VHDWV DQG
ZDOOSDSHU ��� VLQFH �����
�� DUH EHLQJ SUHVHUYHG �� KDYH SUHVHUYHG
�� KDYH EHHQ SUHVHUYHG �� ZHUH SUHVHUYHG

������� VKH VWRRG XS DQG WXUQHG DZD\ IURP WKH SHRSOH�
�� +HU H\HV ZHUH JOLVWHQLQJ ZLWK WHDUV ��:LWK KHU H\HV JOLVWHQLQJ ZLWK WHDUV
��:LWK WHDUV ZHUH KHU H\HV JOLVWHQHG �� *OLVWHQLQJ ZLWK WHDUV KHU H\HV

���:LWK ��� DQ XQXVXDO QDPH� LW ZDV FOHDU IURP WKH VWDUW WKDW WKH GLUHFWRU¶V ILOP ZDV JRLQJ WR EH
GLIIHUHQW�
�� VXFK �� VR
�� DV �� OLNH

���:KDW KH ZDV WDONLQJ DERXW LQ SXEOLF ��� VRPHWKLQJ KH VKRXOG RQO\ WDON DERXW ZLWK KLV LQWLPDWH
IULHQGV�
�� KDYH EHHQ �� ZKLFK LV
�� WR EH �� LV
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���7KH 5RVH %RZO� ��� SODFH RQ 1HZ <HDU¶V 'D\� LV WKH ROGHVW SRVWVHDVRQ FROOHJLDWH IRRWEDOO JDPH LQ WKH
8QLWHG 6WDWHV�
�� WDNHV �� LW WDNHV
�� ZKLFK WDNHV �� WRRN

���:KLOH LQ UHDOLW\ $OSKD &HQWDXUL LV D WULSOH VWDU� ��� WR WKH QDNHG H\H WR EH D VLQJOH VWDU�
�� LW DSSHDUV �� EXW LW DSSHDUV
�� DSSHDUV �� GHVSLWH LW

3DUW %� 9RFDEXODU\
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

���7R FRPSO\ ZLWK D FLW\ RUGLQDQFH WKDW EDUUHG WKH VDOH RI WKH ERRNV� WKH OLWHUDWXUH SLHFHV ZHUH « LQ D
FLW\ ODQGILOO�
�� FDUULHG �� VSRLOHG
�� EXULHG �� VXUPRXQWHG

���3DUHQWV KDLOHG WKH UHPRYDO RI PDVNV DV WKH « RI D QHZ HUD LQ ZKLFK FKLOGUHQ FDQ EHJLQ WR OHDUQ
QRUPDOO\ DJDLQ�
�� DUJXPHQW �� LQFRUSRUDWLRQ
�� LQIDQWU\ �� GDZQLQJ

���7\SLFDO SUDFWLFH LV IRU FKLOGUHQ WR ZDON ZLWK WKH KHUGV� « IURP WKH YLOODJH DQG UHWXUQ WKH DQLPDOV
DW QLJKW�
�� VWUD\ �� SRQGHU
�� JHQHUDWH �� GHULYH

���,QVWHDG RI FDXVLQJ LPPHGLDWH V\PSWRPV� &RYLG��� XVXDOO\ UHPDLQV «²D VWDWH FDOOHG LQDFWLYH
LQIHFWLRQ WKDW LV QRW FRQWDJLRXV�
�� UHFXUUHQW �� IULJLG
�� UK\WKPLFDO �� ODWHQW

���7KH FRXQWU\ PXVW XVH VDQFWLRQV « EHFDXVH LW PD\ KDVWHQ WKH GHPLVH RI WKH GRPLQDQW GROODU�
�� IRUWXQDWHO\ �� FDXWLRXVO\
�� V\PEROLFDOO\ �� VROHO\

���,W¶V XQGHQLDEOH WKDW EHHV DUH YLWDO LQ WKH « RI SODQWV DV WKH\ KHOS WKHP JURZ E\ WUDQVIHUULQJ SROOHQ
EHWZHHQ IORZHULQJ SODQWV�
�� FXOWLYDWLRQ �� PRWLYDWLRQ
�� SUHWHQVLRQ �� GLVWULEXWLRQ

���)RU VDIHW\� D JURXQG ZLUH LV RIWHQ FRQQHFWHG EHWZHHQ WKH LQGLYLGXDO HOHFWULFDO « LQ WKH KRXVH DQG
WKH PDLQ HOHFWULF VZLWFKERDUG RU IXVHER[�
�� FUDIWV �� FLUFXPVWDQFHV
�� IHDWXUHV �� DSSOLDQFHV

���7KH ODZV « ODUJHO\ LQ WKHLU GHWDLOV IURP VWDWH WR VWDWH� EXW WKH\ DOO DLP DW HQDEOLQJ WKH YRWHUV WR
H[HUFLVH D IUHH DQG XQIHWWHUHG YRLFH LQ WKH VHOHFWLRQ RI WKHLU FDQGLGDWHV�
�� YDU\ �� GHFOLQH
�� IDGH �� FRQYHUW

���7KH FHUHEHOOXP� ZKLFK LV RQH RI WKH PDLQ SDUWV RI WKH EUDLQ� LV LQ FKDUJH RI FRQWUROOLQJ DQG «
PRYHPHQWV RI WKH PXVFOHV�
�� FRRUGLQDWLQJ �� WUDFLQJ
�� IXUQLVKLQJ �� QRXULVKLQJ

���$LU DQG ZDWHU SROOXWLRQ DQG HQJLQH QRLVH IURP « ERDWLQJ DFWLYLWLHV KDYH UHFHQWO\ EHFRPH
LQFUHDVLQJO\ VHQVLWLYH LVVXHV DV WKH\ KDYH DIIHFWHG WKH HQYLURQPHQW JUHDWO\�
�� KXPLG �� UHFUHDWLRQDO
�� UHVRXUFHIXO �� IOH[LEOH

���:H FDQ WKLQN RI ZULQNOHV DV D VWRU\ WKDW OLIH KDV ZULWWHQ RQ WKH ERG\� DV D�DQ « RI WKH ODXJKWHU DQG
VRUURZ D SHUVRQ KDV H[SHULHQFHG LQ OLIH�
�� LUULWDWLRQ �� SURIHVVLRQ
�� LQGLFDWLRQ �� WUDQVPLVVLRQ

���7R EXLOG DQ HIIHFWLYH WHDP IRU VSRUWV RU ZRUN� LW LV LPSRUWDQW WR VHOHFW PHPEHUV ZKRVH VNLOOV «
WKRVH RI RWKHU WHDP PHPEHUV�
�� FRPSOHPHQW �� LOOXVWUDWH
�� LQYHVWLJDWH �� VXVSHQG

���0DQ\ H[SHUWV EHOLHYH KLJK�TXDOLW\ VWDII GHYHORSPHQW SURJUDPV DUH NH\ WR XQORFNLQJ WKH «
SRWHQWLDO RI HPSOR\HHV�
�� PLQLPDO �� LUUHOHYDQW
�� UDWLRQDO �� XQWDSSHG
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���:LQG DQG VRODU SRZHU RIIHU YLDEOH « WR FRQYHQWLRQDO HQHUJ\ VRXUFHV VXFK DV RLO DQG FRDO�
�� FRPSRQHQWV �� DOWHUQDWLYHV
�� GHYLDWLRQV �� VXUYLYDOV

���7KH WKUHH FDQGLGDWHV IRU WKH MRE ZHUH DOO HTXDOO\ TXDOLILHG� VR WKH HPSOR\HU PDGH D�DQ « GHFLVLRQ
WR KLUH WKH ILUVW RQH�
�� H[WHUQDO �� FRPSDWLEOH
�� LGHQWLFDO �� DUELWUDU\

���*RRG PDQDJHUV DLP WR SURYLGH WKHLU HPSOR\HHV ZLWK JRRG ZRUNLQJ FRQGLWLRQV DQG OHYHOV RI SD\
KLJK HQRXJK WR « WKHLU PRWLYDWLRQ�
�� UHILQH �� SULRULWL]H
�� DGYRFDWH �� VXVWDLQ

���:RUOGZLGH SURWHVWV DJDLQVW WKH )UHQFK JRYHUQPHQW DUH EHLQJ RUJDQL]HG LQ « WR WKHLU DQQRXQFHPHQW
RI WKH UHVXPSWLRQ RI QXFOHDU WHVWLQJ LQ WKH 6RXWK 3DFLILF�
�� UHDVRQ �� UHVSRQVH
�� UHVXOW �� EDVH

���:LWK LWV DELOLW\ WR FKDQJH FRORU WR EOHQG LQ ZLWK LWV EDFNJURXQG� WKH FKDPHOHRQ LV DEOH WR DFKLHYH D
VWDWH QHDULQJ « �
�� LQYLVLELOLW\ �� SRSXODULW\
�� IHUWLOLW\ �� SUREDELOLW\

��� 7KH LQWHUYLHZ ZRXOG KDYH EHHQ PRUH SURGXFWLYH LI WKH TXHVWLRQV KDG EHHQ « PRUH SUHFLVHO\�
�� VDFULILFHG �� FRQVROHG
�� SDUWLFLSDWHG �� IUDPHG

���<RX VKRXOG NHHS ZKHUH \RX OLYH VHFUHW IURP WKRVH SHRSOH� VR EHZDUH RI VD\LQJ DQ\WKLQJ WKDW PLJKW
« \RXU ORFDWLRQ�
�� VKULQN �� GZHOO
�� UHYHDO �� DWWUDFW

3DUW &� 6HQWHQFH 6WUXFWXUH
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

���
��:KHQ WKH IRRG ZDV H[DPLQHG FORVHO\ DQG VFLHQWLILFDOO\� LW ZDV IRXQG WR FRQWDLQ KDUPIXO EDFWHULD�
�� %\ H[DPLQLQJ WKH IRRG ZDV FORVHO\ DQG VFLHQWLILFDOO\� LW IRXQG WR FRQWDLQ KDUPIXO EDFWHULD�
�� ([DPLQLQJ WKH IRRG FORVHO\ DQG VFLHQWLILFDOO\� LW IRXQG WR FRQWDLQ KDUPIXO EDFWHULD�
�� 7R H[DPLQH WKH IRRG FORVHO\ DQG VFLHQWLILFDOO\� ZKHQ LW ZDV IRXQG WR FRQWDLQ KDUPIXO EDFWHULD�

���
�� 6RPH HOHPHQWV FKDQJH WKHLU FKHPLFDO FRPSRVLWLRQ DV WKH\ PL[HG WR ZDWHU�
�� 6RPH HOHPHQW FKDQJHV LWV FKHPLFDO FRPSRVLWLRQ ZKHQ WKH\ PL[LQJ ZLWK ZDWHU�
�� 6RPH HOHPHQW FKDQJHV LWV FKHPLFDO FRPSRVLWLRQ LV PL[LQJ WR ZDWHU�
�� 6RPH HOHPHQWV FKDQJH WKHLU FKHPLFDO FRPSRVLWLRQ ZKHQ PL[HG ZLWK ZDWHU�

���
�� ,Q VSLWH RI DOO WKH SURJUHVV LW KDV PDGH LQ WKH ODVW �� \HDUV RU VR� PHGLFDO VFLHQFH VWLOO NQRZV OLWWOH DERXW
WKH EUDLQ�
�� ,Q VSLWH RI DOO WKH SURJUHVV LW LV PDGH LQ WKH ODVW �� \HDUV RU VR� PHGLFDO VFLHQFH VWLOO KDV NQRZQ OLWWOH
DERXW WKH EUDLQ�
�� ,Q VSLWH RI DOO WKH SURJUHVV LW ZDV PDGH LQ WKH ODVW �� \HDUV RU VR� PHGLFDO VFLHQFH VWLOO KDG NQRZQ OLWWOH
DERXW WKH EUDLQ�
�� ,Q VSLWH RI DOO WKH SURJUHVV LW ZRXOG PDNH LQ WKH ODVW �� \HDUV RU VR� PHGLFDO VFLHQFH VWLOO KDV EHHQ
NQRZQ OLWWOH DERXW WKH EUDLQ�

���
�� 7KDQNV WR PRGHUQ PHGLFLQH DQG WHFKQRORJ\� WKH QXPEHU RI \HDUV D SHUVRQ LV OLNHO\ WR OLYH KDYH
LQFUHDVHG E\ D JUHDW GHDO�
�� 7KH QXPEHU RI \HDUV D SHUVRQ LV OLNHO\ WR OLYH KDV LQFUHDVHG D JUHDW GHDO WKDQNV WR PRGHUQ PHGLFLQH
DQG WHFKQRORJ\�
�� 7R LQFUHDVH WKH QXPEHU RI \HDUV D SHUVRQ LV OLNHO\ WR OLYH D JUHDW GHDO WKDQNV WR PRGHUQ PHGLFLQH DQG
WHFKQRORJ\�
�� $ SHUVRQ LV OLNHO\ WR OLYH D JUHDW GHDO IRU WKH QXPEHU RI \HDUV ZKLFK LQFUHDVHG WKDQNV WR PRGHUQ
PHGLFLQH DQG WHFKQRORJ\�
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���
�� %ULDQ LV VWXG\LQJ WKH WHFKQLTXHV XVLQJ WR FKDQJH WKH JHQHWLF FRPSRVLWLRQ RI D FHOO WKDW WKH\ FKDQJH
FHUWDLQ FKDUDFWHULVWLFV EH LQKHULWHG�
�� %ULDQ LV VWXG\LQJ WKH WHFKQLTXHV DUH XVHG WR FKDQJH WKH JHQHWLF FRPSRVLWLRQ RI D FHOO LQ RUGHU WR FKDQJH
FHUWDLQ FKDUDFWHULVWLFV ZKLFK FDQ LQKHULW�
�� %ULDQ LV VWXG\LQJ WKH WHFKQLTXHV XVHG WR FKDQJH WKH JHQHWLF FRPSRVLWLRQ RI D FHOO VR DV WR FKDQJH
FHUWDLQ FKDUDFWHULVWLFV ZKLFK FDQ EH LQKHULWHG�
�� %ULDQ LV VWXG\LQJ WKH WHFKQLTXHV ZKLFK XVHG WR FKDQJH WKH JHQHWLF FRPSRVLWLRQ RI D FHOO VXFK WKDW
FKDQJH FHUWDLQ FKDUDFWHULVWLFV FDQ LQKHULW�

3DUW '� /DQJXDJH )XQFWLRQ
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

$�0D\ , «����«ZLWK VRPH FKLOL DQG FKHHVH EDNHG SRWDWRHV"
%�:K\" &RPH RQ�«����« LV EDNHG SRWDWRHV�
$� %XW LW LV KLJK LQ SRWDVVLXP� ,W¶V D QXWULHQW WKDW PDQ\ RI XV FDQ «����« �
%� ,¶G RUGHU D PHDO� 3OHDVH�«����« WKRVH SRWDWRHV IRU PH�
��� �� SLFN XS WKH WDE �� UXQ RYHU

�� VWDUW \RX RII �� UHDFK DQ DJUHHPHQW
��� ��0\ KDQGV DUH WLHG �� 7KH ODVW WKLQJ , QHHG

�� +RS RQ �� %UHDN RXW
��� �� UXQ VKRUW RI �� KDYH DQ RSHQLQJ

�� OHDYH D ORW WR EH GHVLUHG �� WDNH D SHHN
��� �� WDNH P\ ZRUG IRU �� JLYH \RX D ULQJ

�� ZUDS XS �� FRPH GRZQ ZLWK
$� %RE� KRZ GLG WKH EDNLQJ JR"
%� 6ORZ DW ILUVW� EXW ZH¶UH JHWWLQJ WKH «����« RI LW�
��� �� KDQJ �� KDQGOH

�� VKRZ �� VKRW
3DUW (� &OR]H 7HVW
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

$OWKRXJK ZH ODFN DFFXUDWH VWDWLVWLFV DERXW FKLOG PRUWDOLW\ LQ WKH SUH�LQGXVWULDO SHULRG� ZH GR KDYH
HYLGHQFH WKDW LQ WKH ����V� WKH PRUWDOLW\ UDWH IRU FKLOGUHQ ZKR GLHG ZLWKLQ �� GD\V RI ELUWK ZDV DV
PXFK DV �� SHUFHQW� 1HDUO\ DOO IDPLOLHV ���������� VRPH SUHPDWXUH GHDWKV� 6LQFH DOO SDUHQWV H[SHFWHG WR
EXU\ VRPH RI WKHLU FKLOGUHQ� ���������� GLIILFXOW WR LQYHVW LQ WKHLU QHZERUQ FKLOGUHQ� 0RUHRYHU� ����������
IURP WKH HPRWLRQDO FRQVHTXHQFHV RI FKLOGUHQ¶V GHDWK� SDUHQWV DYRLGHG PDNLQJ DQ\ HPRWLRQDO
FRPPLWPHQW WR D�DQ �������« �
7KH ��WK FHQWXU\ ZLWQHVVHG WKH WUDQVIRUPDWLRQ IURP DQ DJUDULDQ HFRQRP\ WR DQ LQGXVWULDO RQH�

RQH RI WKH YLWDO VRFLDO ���������� WKH :HVWHUQ ZRUOG� $Q LQFUHDVLQJ QXPEHU RI SHRSOH PRYHG IURP WKHLU
YLOODJHV DQG VPDOO WRZQV WR ELJ FLWLHV ZKHUH OLIH ZDV ���������� � 6RFLDO VXSSRUWV ZKLFK KDG SUHYLRXVO\
H[LVWHG LQ VPDOOHU FRPPXQLWLHV ZHUH UHSODFHG E\ UXWKOHVV SUREOHPV VXFK DV SRYHUW\� FULPH�
VXEVWDQGDUG KRXVLQJ DQG GLVHDVH� ���������� WKH QHHG IRU DGGLWLRQDO LQFRPH WR VXSSRUW WKH IDPLO\�
\RXQJ FKLOGUHQ IURP WKH SRRUHVW IDPLOLHV ZHUH IRUFHG LQWR HDUO\ HPSOR\PHQW DQG WKXV WKHLU
FKLOGKRRG EHFDPH ���������� � &KLOGUHQ DV \RXQJ DV � PLJKW EH UHTXLUHG WR ZRUN IXOO�WLPH� ���������� WR
XQSOHDVDQW DQG XQKHDOWK\ FLUFXPVWDQFHV� $OWKRXJK VXFK D UROH KDV GLVDSSHDUHG LQ PRVW ZHDOWK\
FRXQWULHV� WKH ���������� RI FKLOGKRRG HPSOR\PHQW VWLOO UHPDLQV FRPPRQ LQ XQGHUGHYHORSHG FRXQWULHV
DQG UDUHO\ GLVDSSHDUHG HQWLUHO\�

��� �� SURYHG �� VXIIHUHG �� GHYRWHG �� LQYDGHG
��� �� WKH\ IRXQG LW �� ILQGLQJ LW �� LW IRXQG �� ZKLFK IRXQG
��� �� WKH\ SURWHFWHG WKHP �� SURWHFWHG WKHPVHOYHV

�� WR SURWHFW WKHPVHOYHV �� SURWHFWLQJ WKHP
��� �� GHOXVLRQ �� LQIDQW �� WKULOO �� UHPHG\
��� �� SODFHV WDNLQJ LQ �� LQ SODFHV WRRN FKDQJLQJ

�� FKDQJHV WDNLQJ SODFH LQ �� FKDQJHV WDNH SODFH LQ
��� �� D EHG RI URVHV �� TXLWH GLIIHUHQW �� D ZDON LQ WKH SDUN �� LQ WKH VDPH ERDW
��� �� 'XH WR �� 'HVSLWH �� $OWKRXJK �� %HFDXVH
��� �� VDIH DQG VRXQG �� LQ QHHG �� SDLQIXOO\ VKRUW �� GHDG RU DOLYH
��� �� ZKR VXEMHFWHG �� VXEMHFWHG �� WKH\ ZHUH VXEMHFWHG �� VXEMHFWLQJ
��� �� LQQRYDWLRQ �� RULJLQ �� FDXWLRQ �� SUDFWLFH
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3DUW )� 5HDGLQJ &RPSUHKHQVLRQ
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1:
+XPDQLW\¶V SULPDO HIIRUWV WR V\VWHPDWL]H WKH FRQFHSWV RI VL]H� VKDSH� DQG QXPEHU DUH XVXDOO\ UHJDUGHG
DV WKH HDUOLHVW PDWKHPDWLFV� +RZHYHU� WKH FRQFHSW RI QXPEHU DQG WKH FRXQWLQJ SURFHVV GHYHORSHG VR
ORQJ EHIRUH WKH WLPH RI UHFRUGHG KLVWRU\ �WKHUH LV DUFKDHRORJLFDO HYLGHQFH WKDW FRXQWLQJ ZDV HPSOR\HG
E\ KXPDQV DV IDU EDFN DV ������ \HDUV DJR� WKDW WKH PDQQHU RI WKLV GHYHORSPHQW LV ODUJHO\ FRQMHFWXUDO�
,PDJLQLQJ KRZ LW SUREDEO\ FDPH DERXW LV QRW GLIILFXOW� 7KH DUJXPHQW WKDW KXPDQV� HYHQ LQ SUHKLVWRULF
WLPHV� KDG VRPH QXPEHU VHQVH� DW OHDVW WR WKH H[WHQW RI UHFRJQL]LQJ WKH FRQFHSWV RI PRUH DQG OHVV ZKHQ
VRPH REMHFWV ZHUH DGGHG WR RU WDNHQ DZD\ IURP D VPDOO JURXS� VHHPV IDLU� IRU VWXGLHV KDYH VKRZQ WKDW
VRPH DQLPDOV SRVVHVV VXFK D VHQVH�
:LWK WKH JUDGXDO HYROXWLRQ RI VRFLHW\� VLPSOH FRXQWLQJ EHFDPH LPSHUDWLYH� $ WULEH KDG WR NQRZ KRZ

PDQ\ PHPEHUV DQG KRZ PDQ\ HQHPLHV LW KDG� DQG D VKHSKHUG QHHGHG WR NQRZ LI WKH IORFN RI VKHHS
ZDV GHFUHDVLQJ LQ VL]H� 3UREDEO\ WKH HDUOLHVW ZD\ RI NHHSLQJ D FRXQW ZDV E\ VRPH VLPSOH WDOO\ PHWKRG�
HPSOR\LQJ WKH SULQFLSOH RI RQH�WR�RQH FRUUHVSRQGHQFH� ,Q NHHSLQJ D FRXQW RI VKHHS� IRU H[DPSOH� RQH
ILQJHU SHU VKHHS FRXOG EH WXUQHG XQGHU� &RXQWV FRXOG DOVR EH PDLQWDLQHG E\ PDNLQJ VFUDWFKHV LQ WKH
GLUW RU RQ D VWRQH� E\ FXWWLQJ QRWFKHV LQ D SLHFH RI ZRRG� RU E\ W\LQJ NQRWV LQ D VWULQJ�
7KHQ� SHUKDSV ODWHU� DQ DVVRUWPHQW RI YRFDO VRXQGV ZDV GHYHORSHG DV D ZRUG WDOO\ DJDLQVW WKH

QXPEHU RI REMHFWV LQ D VPDOO JURXS� $QG VWLOO ODWHU� ZLWK WKH UHILQHPHQW RI ZULWLQJ� D VHW RI VLJQV ZDV
GHYLVHG WR VWDQG IRU WKHVH QXPEHUV� 6XFK DQ LPDJLQHG GHYHORSPHQW LV VXSSRUWHG E\ UHSRUWV RI
DQWKURSRORJLVWV LQ WKHLU VWXGLHV RI SUHVHQW�GD\ VRFLHWLHV WKDW DUH WKRXJKW WR EH VLPLODU WR WKRVH RI HDUO\
KXPDQV�

��� :KDW GRHV WKH SDVVDJH PDLQO\ GLVFXVV"
�� 7KH HIIRUWV RI HDUO\ KXPDQV WR FDUH IRU KHUGV RI DQLPDOV
�� 7KH GHYHORSPHQW RI ZULWLQJ
�� 7KH EHJLQQLQJV RI PDWKHPDWLFV
�� 6LPLODULWLHV LQ QXPEHU VHQVH EHWZHHQ KXPDQV DQG DQLPDOV

��� 7KH ZRUG ³FRQMHFWXUDO´ LQ SDUDJUDSK � LV FORVHVW LQ PHDQLQJ WR « �
�� FRPSOH[ �� EDVHG RQ JXHVVLQJ
�� XQEHOLHYDEOH �� VXSSRUWHG E\ FDUHIXO UHVHDUFK

��� :K\ GRHV WKH DXWKRU PHQWLRQ DQLPDOV LQ SDUDJUDSK �"
�� 7R VXSSRUW D WKHRU\ DERXW WKH EHKDYLRU RI HDUO\ KXPDQV
�� 7R LGHQWLI\ DFWLYLWLHV WKDW DUH GLVWLQFWO\ KXPDQ
�� 7R LOOXVWUDWH WKH OLPLWV RI D KLVWRULFDO UHFRUG RI KXPDQ GHYHORSPHQW
�� 7R HVWDEOLVK WKDW HDUO\ KXPDQ NHSW GRPHVWLFDWHG DQLPDOV

��� 7KH SURQRXQ ³LW´ LQ SDUDJUDSK � UHIHUV WR « �
�� HYROXWLRQ �� FRXQWLQJ �� WULEH �� VKHSKHUG

��� :KLFK RI WKH IROORZLQJ FRQFOXVLRQV LV VXSSRUWHG E\ WKH SDVVDJH"
�� &RXQWLQJ SURFHVVHV GLG QRW GHYHORS XQWLO DIWHU ZULWLQJ EHFDPH ZLGHVSUHDG�
�� (DUO\ FRXQWLQJ PHWKRGV UHTXLUHG KHUGV RI DQLPDOV�
��0DWKHPDWLFV KDV UHPDLQHG XQFKDQJHG VLQFH DQFLHQW WLPHV�
�� (DUO\ KXPDQV ILUVW FRXQWHG EHFDXVH RI QHFHVVLW\�
PASSAGE 2:
,Q ����� D QHZ W\SH RI SKRQRJUDSK GLVF UHDFKHG WKH PDUNHWSODFH� ZKLFK VKRZHG WKH SURPLVH RI
HYHQWXDOO\ WDNLQJ RYHU WKH UHFRUGLQJ LQGXVWU\� ,W ZDV FDOOHG WKH FRPSDFW GLVF DQG PDGH XVH RI WZR
WHFKQLFDO V\VWHPV� GLJLWDO UHFRUGLQJ DQG ODVHU EHDPV� $W WKH WLPH RI WKH WHFKQRORJ\¶V LQWURGXFWLRQ LQ
����� D &' FRXOG VWRUH PXFK PRUH GDWD WKDQ D SHUVRQDO FRPSXWHU KDUG GULYH� ZKLFK ZRXOG W\SLFDOO\
KROG �� 0%� %\ ����� KDUG GULYHV FRPPRQO\ RIIHUHG DV PXFK VWRUDJH VSDFH DV D WKRXVDQG &'V� ZKLOH
WKHLU SULFHV KDG SOXPPHWHG WR FRPPRGLW\ OHYHO� ,Q ����� ZRUOGZLGH VDOHV RI DXGLR &'V� &'�520V
DQG &'�5V UHDFKHG DERXW �� ELOOLRQ GLVFV� %\ ����� ��� ELOOLRQ &'V KDG EHHQ VROG ZRUOGZLGH� $OO
UHFRUGLQJ XQWLO WKH DGYHQW RI WKH FRPSDFW GLVF ZDV DQDORJ UHFRUGLQJ� ZKLFK UHFRUGHG WKH YLEUDWLRQV RI
VRXQG ZDYHV RQ D WUDFN� :LWK DQDORJ UHFRUGLQJ� WKHUH ZDV DOZD\V D ELW RI VOLSSDJH� ZKLFK DGGHG
GLVWRUWLRQ� 'LJLWDO UHFRUGLQJ LV D FRPSOHWHO\ GLIIHUHQW SURFHVV� RQH LQ ZKLFK WKH GLVWRUWLRQ LV VR VPDOO
WKDW LW FDQ EH VDLG WR EH HIIHFWLYHO\ HOLPLQDWHG� 7KXV WKH ILGHOLW\ RI WKH FRPSDFW GLVF LV H[WUHPHO\ KLJK�
%HFDXVH WKH LQGHQWDWLRQV RQ WKH FRPSDFW GLVF SDVV XQGHU D ODVHU EHDP� QR VROLG GHYLFH LV LQ FRQWDFW

ZLWK WKH GLVF� DQG WKHUHIRUH WKHUH LV QR IULFWLRQ�:LWK D PLQLPXP RI FDUH� WKH FRPSDFW GLVF VKRXOG ODVW
LQGHILQLWHO\� 7KLV LV LQ FRQWUDVW WR WKH UHODWLYHO\ VKRUW OLIH RI DQ DQDORJ UHFRUGLQJ� $QRWKHU DGYDQWDJH RI
WKH FRPSDFW GLVF LV WKH V\VWHP RI LGHQWLI\LQJ QXPEHUV WKDW DOORZV IRU UDQGRP DFFHVV WR DQ\ VRQJ RQ WKH
UHFRUGLQJ ZLWK WKH SXVK RI D EXWWRQ� %HFDXVH RI WKH LPSURYHG TXDOLWLHV DQG DGYDQWDJHV RI WKH FRPSDFW
GLVF� LWV SURGXFWLRQ KDV LQFUHDVHG VLJQLILFDQWO\ VLQFH LWV LQWURGXFWLRQ� $OWKRXJK DQDORJ UHFRUGLQJ
FRQWLQXHV� LW LV H[SHFWHG WR EH UHOHJDWHG WR D QRVWDOJLF SDVW DV WKH &' EHFRPHV WKH UHFRUGLQJ IRUPDW RI
WKH IXWXUH�
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��� :KDW LV WKH DXWKRU¶V SXUSRVH LQ ZULWLQJ WKLV SDVVDJH"
�� 7R FULWLFL]H DQDORJ UHFRUGLQJ
�� 7R FRPSDUH UHFHQW LPSURYHPHQWV LQ UHFRUGLQJ
�� 7R SUHVHQW WKH DGYDQWDJHV RI WKH FRPSDFW GLVF
�� 7R VXSSRUW WKH LGHD RI FKDQJH LQ WKH PXVLF LQGXVWU\

��� 7KH SDUDJUDSK WKDW SUHFHGHV WKLV SDVVDJH PRVW OLNHO\ GHDOV ZLWK « �
�� QRVWDOJLD LQ WKH ����V �� UHFRUGLQJ PHWKRGV EHIRUH ����
�� WKH RWKHU XVHV RI ODVHU EHDPV �� PDMRU VWDUV LQ WKH UHFRUGLQJ LQGXVWU\

��� :KLFK RI WKH IROORZLQJ LV 127 PHQWLRQHG DV DQ DGYDQWDJH RI WKH FRPSDFW GLVF"
�� /RQJ OLIH �� 6PDOO GLVWRUWLRQ
�� +LJK�TXDOLW\ VRXQG �� 7KH QXPEHU RI VRQJV RQ D UHFRUGLQJ

��� 7KH WRQH RI WKH SDVVDJH FRXOG EHVW EH GHVFULEHG DV « �
�� SRVLWLYH �� QHJDWLYH �� KXPRURXV �� DUJXPHQWDWLYH

��� $FFRUGLQJ WR WKH SDVVDJH� LW FDQ EH FRQFOXGHG WKDW « �
�� FRPSDFW GLVFV UHTXLUH D ORW RI VSHFLDO FDUH
�� DQDORJ UHFRUGV ZLOO HYHQWXDOO\ EH GLIILFXOW WR REWDLQ
�� SHRSOH GLGQ¶W HQMR\ JRRG PXVLF XQWLO WKH DGYHQW RI WKH FRPSDFW GLVF
�� SHRSOH ZLOO HYHQWXDOO\ VWRS EX\LQJ FRPSDFW GLVFV EHFDXVH WKH\ ODVW LQGHILQLWHO\
PASSAGE 3:
'XULQJ WKH VHYHQWHHQWK DQG HLJKWHHQWK FHQWXULHV� DOPRVW QRWKLQJ ZDV ZULWWHQ DERXW WKH FRQWULEXWLRQV
RI ZRPHQ GXULQJ WKH FRORQLDO SHULRG DQG WKH HDUO\ KLVWRU\ RI WKH QHZO\ IRUPHG 8QLWHG 6WDWHV� /DFNLQJ
WKH ULJKW WR YRWH DQG DEVHQW IURP WKH VHDWV RI SRZHU� ZRPHQ ZHUH QRW FRQVLGHUHG DQ LPSRUWDQW IRUFH
LQ KLVWRU\� $QQH %UDGVWUHHW ZURWH VRPH VLJQLILFDQW SRHWU\ LQ WKH VHYHQWHHQWK FHQWXU\� 0HUF\ 2WLV
:DUUHQ SURGXFHG WKH EHVW FRQWHPSRUDU\ KLVWRU\ RI WKH $PHULFDQ 5HYROXWLRQ� DQG $ELJDLO $GDPV
SHQQHG LPSRUWDQW OHWWHUV VKRZLQJ WKDW VKH H[HUFLVHG JUHDW SROLWLFDO LQIOXHQFH RYHU KHU KXVEDQG� -RKQ�
WKH VHFRQG 3UHVLGHQW RI WKH 8QLWHG 6WDWHV� %XW OLWWOH RU QR QRWLFH ZDV WDNHQ RI WKHVH FRQWULEXWLRQV�
'XULQJ WKHVH FHQWXULHV� ZRPHQ UHPDLQHG LQYLVLEOH LQ KLVWRU\ ERRNV�
7KURXJKRXW WKH QLQHWHHQWK FHQWXU\� WKLV ODFN RI YLVLELOLW\ FRQWLQXHG� GHVSLWH WKH HIIRUWV RI IHPDOH

DXWKRUV ZULWLQJ DERXW ZRPHQ� 7KHVH ZULWHUV� OLNH PRVW RI WKHLU PDOH FRXQWHUSDUWV� ZHUH DPDWHXU
KLVWRULDQV� 7KHLU ZULWLQJV ZHUH FHOHEUDWRU\ LQ QDWXUH� DQG WKH\ ZHUH XQFULWLFDO LQ WKHLU VHOHFWLRQ DQG
XVH RI VRXUFHV�
'XULQJ WKH QLQHWHHQWK FHQWXU\� KRZHYHU� FHUWDLQ IHPLQLVWV VKRZHG D NHHQ VHQVH RI KLVWRU\ E\

NHHSLQJ UHFRUGV RI DFWLYLWLHV LQ ZKLFK ZRPHQ ZHUH HQJDJHG� 1DWLRQDO� UHJLRQDO� DQG ORFDO ZRPHQ¶V
RUJDQL]DWLRQV FRPSLOHG DFFRXQWV RI WKHLU GRLQJV� 3HUVRQDO FRUUHVSRQGHQFH� QHZVSDSHU FOLSSLQJV� DQG
VRXYHQLUV ZHUH VDYHG DQG VWRUHG� 7KHVH VRXUFHV IRUP WKH FRUH RI WKH WZR JUHDWHVW FROOHFWLRQV RI
ZRPHQ¶V KLVWRU\ LQ WKH 8QLWHG 6WDWHV� RQH DW WKH (OL]DEHWK DQG $UWKXU 6FKOHVLQJHU /LEUDU\ DW
5DGFOLIIH &ROOHJH� DQG WKH RWKHU WKH 6RSKLD 6PLWK &ROOHFWLRQ DW 6PLWK &ROOHJH� 6XFK VRXUFHV KDYH
SURYLGHG YDOXDEOH PDWHULDOV IRU ODWHU JHQHUDWLRQV RI KLVWRULDQV�
'HVSLWH WKH JDWKHULQJ RI PRUH LQIRUPDWLRQ DERXW RUGLQDU\ ZRPHQ GXULQJ WKH QLQHWHHQWK FHQWXU\�

PRVW RI WKH ZULWLQJ DERXW ZRPHQ FRQIRUPHG WR WKH ³JUHDW ZRPHQ´ WKHRU\ RI KLVWRU\� MXVW DV PXFK RI
PDLQVWUHDP $PHULFDQ KLVWRU\ FRQFHQWUDWHG RQ ³JUHDW PHQ�´ 7R GHPRQVWUDWH WKDW ZRPHQ ZHUH
PDNLQJ VLJQLILFDQW FRQWULEXWLRQV WR $PHULFDQ OLIH� IHPDOH DXWKRUV VLQJOHG RXW ZRPHQ OHDGHUV DQG
ZURWH ELRJUDSKLHV� DQG LPSRUWDQW ZRPHQ SURGXFHG WKHLU DXWRELRJUDSKLHV�0RVW RI WKHVH OHDGHUV ZHUH
LQYROYHG LQ SXEOLF OLIH DV UHIRUPHUV� DFWLYLVWV ZRUNLQJ IRU ZRPHQ¶V ULJKW WR YRWH� RU DXWKRUV� DQG ZHUH
QRW UHSUHVHQWDWLYH DW DOO RI WKH JUHDW PDVV RI RUGLQDU\ ZRPHQ� 7KH OLYHV RI RUGLQDU\ SHRSOH FRQWLQXHG�
JHQHUDOO\� WR EH XQWROG LQ WKH $PHULFDQ KLVWRULHV EHLQJ SXEOLVKHG�

��� :KDW GRHV WKH SDVVDJH PDLQO\ GLVFXVV"
�� 7KH UROH RI OLWHUDWXUH LQ HDUO\ $PHULFDQ KLVWRULHV
�� 7KH SODFH RI $PHULFDQ ZRPHQ LQ ZULWWHQ KLVWRULHV
�� 7KH NHHQ VHQVH RI KLVWRU\ VKRZQ E\ $PHULFDQ ZRPHQ
�� 7KH ³JUHDW ZRPHQ´ DSSURDFK WR KLVWRU\ XVHG E\ $PHULFDQ KLVWRULDQV

��� ,Q WKH ILUVW SDUDJUDSK� %UDGVWUHHW�:DUUHQ� DQG $GDPV DUH PHQWLRQHG WR VKRZ WKDW « �
�� D ZRPDQ¶V VWDWXV ZDV FKDQJHG E\ PDUULDJH
�� HYHQ WKH FRQWULEXWLRQV RI RXWVWDQGLQJ ZRPHQ ZHUH LJQRUHG
�� RQO\ WKUHH ZRPHQ ZHUH DEOH WR JHW WKHLU ZULWLQJV SXEOLVKHG
�� SRHWU\ SURGXFHG E\ ZRPHQ ZDV PRUH UHDGLO\ DFFHSWHG WKDQ RWKHU ZULWLQJV E\ ZRPHQ

��� 7KH SURQRXQ ³WKH\´ LQ SDUDJUDSK � UHIHUV WR « �
�� HIIRUWV �� VRXUFHV �� FRXQWHUSDUWV �� DXWKRUV

��� ,Q SDUDJUDSK �� ZKDW ZHDNQHVV LQ QLQHWHHQWK�FHQWXU\ KLVWRULHV GRHV WKH DXWKRU SRLQW RXW"
�� 7KH\ SXW WRR PXFK HPSKDVLV RQ GDLO\ DFWLYLWLHV�
�� 7KH\ OHIW RXW GLVFXVVLRQ RI WKH LQIOXHQFH RI PRQH\ RQ SROLWLFV�
�� 7KH VRXUFHV RI WKH LQIRUPDWLRQ WKH\ ZHUH EDVHG RQ ZHUH QRW QHFHVVDULO\ DFFXUDWH�
�� 7KH\ ZHUH SULQWHG RQ SRRU TXDOLW\ SDSHU�

��� 7KH ZRUG ³UHSUHVHQWDWLYH´ LQ SDUDJUDSK � LV FORVHVW LQ PHDQLQJ WR « �
�� W\SLFDO �� VDWLVILHG �� VXSSRUWLYH �� GLVWLQFWLYH
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زز وآ !

وآ  ر پا تنا اآ لو  ب دهاد اهآ اا ا ر و تنا اآ پا ضعی.

وآارا قو ر ا تما هاهاتنا دا.د پا  هفتگ هاهکا ئ ارتنا 

.و و وآ هاهبر اهی  مینا ر  هید پا لو  و اهآ نج ر ا،طفا پاحشر

رائید عطا .و:ما  لو16و  ر.

16.  نز د؟

1.م    ا تنا اوند غییر مر ا .ود

2.اوقو ا تنا   وپذر هتر مر ا .ود

3.ید4.م

161. د ویرا ر ید؟فید

1." چیز ؟چ"عطا  ب2."چیز چ؟د و"عطا  ب

ارت؟".3 چیز چ"عطا  4پ.و م

16. ؟ صحی وآ و  ر و   د

1. او یرا ضعی  ا اآ وو.2.  طا ر ر.

3. یرا ر گیز ز او.4.مو

160. و د فید عطا ندگیز نو ؟

1.یاندآ د و  2پر.ل ر ر و پیشر ستمر پا

3.و  دی4.ر

16. دسا  ر ر ر  / نند م شک؟

1.سا خت عا تو2.ح  ی تومک ا

3.ح  ذا4.مو

166. پی ا و رد ر    دار  ین نا زید؟

1.ارجد ز2.پا عییار ر  ب حتما ا

3.ا کا4.رر  د یسا

ر .167 ا اا و و د دد و؟

دد.1 یرا  تقبا2.و ر  نطق حف ر ل

غییر.3  قا4.و م

16.  فید  و د ین پی ا غیر ر ید؟

1.گر  یرا2.ثب کا ر دپیدد ر

طاا.3 ست و4.مند م

162.       وضو چند دو و  نز د؟

1.    ا مرز چو یس ناز.2.یرا  ا عطا و چو  ناو.

3.رد4.م

نید .174 تخا ر لو و   ر ها نز  ک.

ند.1 م  طا یرا    اآ   تظا  و .فید

2.ست یشتر تقو یکا  برا ،ال ا  ا.

3. دی4.ر




